goooooooo -00

ggb obooboooboad

[Doooooo]
0000000000000000000000
ooo

A-B-C+A-B-.C = A-B
000 (00000000000000)0000

oooobooooo 0o

[Doooooj]

gbooooobo:. ooboobooobobaoo
ooobooooooooboobobon

ooooooooDoog:s60000000
oo

obooooooo:-000000

ooooooooo -0o

ApS 0 1 aptPoo 01 11 10
ool _9_|_1 oo O |+ | 3 | 2
ABC | ABC ABCD |ABCD |ABCD |ABCD
01 _2_ _3 01 7477 757 7 6
ABC | ABC ABCD |ABCD |ABCD |ABCD
11 6_ 7 11 1%7 l% 15 14
ABC | ABC ABCD |ABCD |ABCD |ABCD
0] 4_| 5 10 8 | 9 J 11 )10
ABC| ABC ABCD |ABCD |ABCD |ABCD
[Doooooo0]
oo (DDDDDDD)DD 100o0o0oooo

goooooooo -0o0

(b) f = AB+AB+AB = fi+f, = A+B
0000 fi=AB+AB = (A+A)B=B
fo=AB+AB = AB+B)=A

(b) (©)
B o 1 B o 1

M)
0 0 1 0 0 |1|
B

AB .
1| (1 14, 1@ U

—/

f=A+B f=B+ AB
= ()00 (bh)ODODOODO

oopboooooo -00

[DooooOo]

e JI0OO
BCD + ACD + ABD + ACD 0O

ACD + ABC + ACD

e J00DD0UIUUOUODODDOUIOOOD
AB+BOO A+ B

ooooooooo boo

[Doooo]
e 00000D00ONDOOODNDOOO
e 0000D0D0O0D0D (560000000)

ooooooooo -oo

[DO0000D00DO0O0O0D OooDooo]
oooboooooooooooobo

(a) f = AB+AB = (A+

ol

A)B =

(@
B o 1 B o 1

: \ ---F[

ooooooooo -oo

[D00000O0D0O000D Oooooo]

apl 0 1 Ap$ 0 (1\ aes g\ L
00| 0 L:IJ\ 5c 00| 0 [f1 oo|l[1 1J
01 fq 0 otlf2 [[2))] € 01|z o [N\g
BC B
11||1]| o S EE 11| ]1f] o
Cc
10| o ﬂ 10| o |]1 10|([2 1]
_/ _/
f=BC+BC f=B+C f=B+C

e OO0 DOODLOODDOODOO

e 400000 0ODODOODOO40000O0




goooooooo -00 9

[D00D0D0O0DO0O00DO Oooooo]

e 0O O0OOOOODOODOODOO

e 104000000 40000000000
0

e JO8O0ODODOO

(a) f = ABD+ ABD + BCD
(b) f = BD+BD

(¢) f = C+ABD + ABD
(d) f = BD+CD+BCD

oooobooooo 0o 11

[Doooooj

1) 00100000000 100000

oo
2) 0040000000000D000OO0

gboooooooooon
3) D08UOUOUDUOODDUD400DO

ooobo0oo04000000000
4) J00O0O0O0O0OOOO 1000000

gbooooood

ooooooooo -0o 13

[DoD00o0O00o0]
e 000 (0)0D0DOOOODODOODODO
ooooooo
(a) ABD+ ABC + ABD + ABC
(b) ACD + BCD+ ACD+ BCD
e 100 (0)0D0DOODODODOODODO
0ooooooo
(¢) ABC + ABD + ABC
(d) ABC + ACD + BCD + ABC

— 0000000 (0)000O0o0ooooooo
g

goooooooo -0o0 15

[Dooooooo)

e5000000FE=00FE=1000000
ooooo
(0: BCD+ AC + ABCE)
e 6000000 EF =00,01,10,110000
oooo

oopboooooo -00

@
AB

00
01

11

10

(b)

DOO 01 11 10 ABCDOO 01 11 10
U o] T W
BCD
ABD 01 (1__1\
—
D |5 v 1
5 @ o0&

ooooooooo

oo

CcD

ABX 00 01 11 10

00

®

1

01| 1

11] 1

10| 1

CD

AB 00 01 11

00

N

01

R
%o
B

10

5

ooooooooo -oo

14

@

aBSPo0 01 11 10 ApSPoo 01 11 10
D) @] oo L:LJ m
01 G| o m U
11 o 11 m U
10| D 10 m U

ooooooooo -oo

16

10

cC
AB

DOO

[E=1]

01

11 10

00

)

01

11
X

10




goooooooo -00 17

[Dooooooo)
000000000000000000000
00

(1) 00000000 (00100000
0o00oo00)ooo
(2) DDODODOOOOOOO fOO f
oono
f=BCD+ BCD
= f=(B+C+D)(B+C+D)

oooobooooo 0o 19

gboobooboooo

e JO0OOOOODOODO

e J00O0DOODOODODODODODLOO

[DO)(0D0) DoOoOoOO00D00000

ooooooooo -0o 21

goooooooo -0o0 23

[Dooo)
0000000000000000000000
0

[DoooOooooo)

(1) (0000D0000D0000D0000000
0)000000D0

(2) 00000000000

(3) 00000000000000000000
ooo

goopoooooo -oo 18
o o

ABS 00 01 11 10 AB< 00 01 11 10
00| 1 1 1 0 00| O 0 0 l}J
01| 1 0 1 1 01] o 1 0 0
11 1 0 1 1 11] 0 1 0 0
10| 1 1 1 0 10| O 0 0 m

ooooooooo boo 20

gboooooooboobood

(1) 000000000

(2) 00000000 200010000000
oooooono

(3) 000 (10000 1,000000)0000
00000000000000000000

(400 4000000000000DOOOD
oo

(5) 0DOO00DOOO0DOOODOOODO
go

ooooooooo -oo 22

oooo (100000

*2.10 %010
#4112 %100
8,10 | 10x0V
8, 12 1x00 v

10, 14 1x10 v
12, 14 11x0 Vv

*7,15 x111
*14, 15 111x

oood 200000

8,10, 12,14 |  1xx0

ooooooooo -oo 24




goooooooo -00 25

[02] OODODO0DDOOOODOOOOOO0
f = AC + ACD + ABC + ABD
= AC+ ACD + ABC + BCD




